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DOEE X (D P ES 4 4000 VU4
W] o7 P& ES 4 6000 Ik
Pisis (S) P ES 3 4000 Py 4F
Hi% P ES 3 3800 Py 4F
BRBBUGHE (D s 4 4000 Ik
e R HT.2% 3 4000 PU4E
JGHAE Bk 5 TR T2k 3 4800 Iy 47
B SR R SR BTk 4 5900 IiEea
I TR HT 2k 4 4800 Iy 4
kRS TR T8 4 5900 PU4E
W TR BTk 4 4800 Y45
7% P 4 4000 VU4
4 55 PR P ES 4 5000 VU4
S TR P& ES 4 4000 ILIEES
i i 3 P ES 3 4000 VU4
K BTk 3 3600 P44
L BT 4 4800 JLIEES
Bt TR T2k 4 5900 Iy 4
Hzhik HT.2% 3 5900 PU4E
SRR A o HT.2% 3 4800 PU4E
MUBR T T3 2 e B Bk T 3 5900 VU4
IR GRS BTk 4 4800 Ik
IR MRS A2 HT 2k 4 4800 Iy 4
TARTAE HT2% 4 5900 Ik
W 2 Fx PEES 3 4800 T
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